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2007-08 Region Competition

Match #10


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This poem’s narrator states, ‘I gave commands, / Then all smiles stopped altogether,’ about his now-deceased wife. He then talks about a statue, made for his new wedding, by the fictional sculptor Claus of Innsbruck. His former wife was painted by the fictional Fra Pandolf. He had given his former wife the gift of a ‘nine-hundred-years-old name.’ This poem’s narrator was probably Alfonso II, the Duke of Ferrara. What is this poem by Robert Browning? 


ANSWER: “My Last Dutchess”

2.
His last studio session was the album Interstellar Space. Albums such as Sun Ship and Om reflected his later avant-garde musical direction. These steps started in 1957, when he had a spiritual revelation after kicking his heroin addiction. He played with Dizzy Gillespie, Miles Davis, and Thelonious Monk before forming his own quartets. He is regarded as a saint by the African Orthodox Church. What jazz saxophonist died of liver cancer in 1967?


ANSWER: John Coltrane
3.
When using light, it produces light and dark bands caused by interference; when using electrons, it can also produce an interference pattern, or none, depending on the detectors used.  Name this experiment pioneered by Akira Tonomura’s Hitachi team, Pier Giorgio Merli, Claus Jonsson, and Thomas Young that involves particles or waves passing through two holes.

ANSWER: double-slit experiment

4.
Some Greeks called him Momyllus, a name that means ‘little disgrace.’ After his overthrow, he was given a pension of 6,000 solidi a year and exiled to the Lucullum Castle near Naples. He then disappeared from history. His father Orestes placed him on the throne after the overthrow of Julius Nepos. He was never recognized as Emperor by his Eastern counterpart, Zeno. Odoacer forced his abdication on September 4, 476 AD. Who was the last Emperor of the Western Roman Empire? 


ANSWER: Romulus Augustus or Romulus Augustulus
5.
This family was kept together by the mother, Marmee. Its father, Robert, was off serving as a chaplain in the Union Army during the Civil War. Although one daughter died, the other three daughters married John Brooke, Laurie Laurence, and Professor Fritz Bhaer. Beth, Amy, Meg, and Jo were the daughters of what family that Louisa May Alcott wrote about in Jo’s Boys, Little Men, and Little Women? 


ANSWER: the March family

6.
The highest point of this region is Mount Koussi, part of the Tibesti Mountains. Its lowest point is the Qattara (KAH-tah-rah) Depression. Major cities include Tamanrasset and Nouakchott. The Canary Current helps reduce the amount of precipitation it receives. Its ancient residents called it the ‘red land,’ while more modern residents call it the ‘great desert.’ Northern Africa is dominated by what desert? 


ANSWER: Sahara Desert

7.
A pipe-making company in Ohio is claiming this domain belongs to them. Three former PayPal employees founded this website, which launched in November 2005. In October 2006, it was bought out for $1.65 billion. It has made stars out of people such as geriatric1927, Chad Vader, and lonelygirl15. User submissions are converted into .FLV (dot-f-l-v), or Adobe Flash Video, format after being uploaded. Google is the current owner of what video sharing website? 


ANSWER: YouTube
8.
The PC does not stand for personal computer but Paper Cassette. The other two words describe what to do and what size of paper to use. Name this error message displayed on HP LaserJet printers letting the user know it is out of 11x8.5 inch paper.

ANSWER: PC Load Letter 

9.
His retirement on the Norpin colony was ruined when the Jenolan ran into a Dyson sphere. In the upcoming eleventh film, Simon Pegg will portray him. He read technical journals in his spare time and started a fight when his ship was insulted in ‘The Trouble with Tribbles.’ He also served on board the Excelsior and on a captured Bird of Prey, where he remarked that reading Klingon was harder than damage control. James Doohan played what head of engineering in the original Star Trek? 


ANSWER: Lieutenant Commander Montgomery Scott (accept Scotty)

10.
This language is closely related to Assamese, and it is one of the easternmost of the Indo-European languages. Words borrowed from Sanskrit can have consonant clusters, and unlike in Hindi, verbs do not need to be conjugated for gender. What language is spoken by around 230 million people around the city of Calcutta and in a nation formerly known as East Pakistan? 

ANSWER: Bengali

11.
This ergoline derivative was first synthesized in 1938 by Dr. Albert Hofmann.  Its chemical formula is C20H25N3O and its threshold dosage is very small at only twenty to thirty micrograms.  Timothy Leary advocated the use of what psychedelic drug known as acid?

ANSWER: LSD or lysergic acid diethylamide
12.
This term comes to us from a Greek word meaning “circle of animals.” Babylonian astronomers were the first to create one, and the Hindu one is similar to our own due to contact between them and the Greeks. What is the belt in the heavens, 9 degrees wide on either side of the ecliptic, or sun’s apparent path, which has meaning for astrology, since it contains the 12 astrological signs? 

ANSWER: zodiac
13.
THIS IS A COMPUTATION QUESTION. What is the remainder when 15,567 is divided by 6, given that 12,000, 3,000, and 540 are all evenly divisible by 6?

ANSWER: three
14.
This word, especially with the word heavy, was used in the 1950s to refer to fondling and caressing. It comes from a Scottish word meaning ‘tame animal.’ It can refer to someone’s favorite, especially with a teacher. It refers to stroking, as with an animal. What word refers to an animal kept for companionship, especially a dog or a cat?


ANSWER: pet

15.
These laws were the subject of the 1988 Supreme Court case, Communications Workers of America v. Beck. Individual states were permitted to pass these laws after the passage of Taft-Hartley. Their opponents argue that they depress wages and create potential free riders on collective bargaining agreements. Proponents argue that no one should be forced to join a union. Twenty-two states have passed what type of law that prohibits a ‘union shop,’ a workplace where workers must join a union? 


ANSWER: right-to-work laws

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
In 2004, NASCAR turned the last ten races of its top division into what ‘playoff’ involving the twelve drivers who are leading on points after 26 races? 


ANSWER: Chase for the Cup or Chase for the Championship or Sprint for the Cup (allow ‘NEXTEL’ to be put before ‘Cup’ in any of those)

1B.
What layer, located above the asthenosphere (uhs-THEE-noh-sfeer), contains the crust and upper mantle, and is the rocky outermost layer of the Earth? 


ANSWER: lithosphere
2A.
THIS IS A COMPUTATION QUESTION. What is the remainder when 876 is divided by 9?

ANSWER: three
2B.
What word refers to the sound a bullet makes when it strikes something, to remind someone of something, or to send a packet to verify that a computer is alive? 


ANSWER: ping
3A.
The adobe Palace of the Governors is an attraction in what state capital where all buildings must be in the Spanish Pueblo Revival style? 


ANSWER: Santa Fe, New Mexico

3B.
THIS IS A COMPUTATION QUESTION. What is the median of 73, 21, 42, 58, 36, 12, and 86?

ANSWER: 42
4A.
The narrator kills a pet feline named Pluto and then kills his wife in what short story by Edgar Allan Poe?


ANSWER: “The Black Cat”

4B.
What showman, who exhibited a dwarf named ‘General Tom Thumb’ and arranged Jenny Lind’s America tour, is associated with ‘The Greatest Show on Earth?’


ANSWER: P(hineas) T(aylor) Barnum
5A.
Flanked by a pair of guard cells, what openings on a leaf’s surface regulate gas exchange? 


ANSWER: stoma or stomata
5B.
What former First Lady of Argentina assumed that country’s Presidency on December 10, 2007? 


ANSWER: Cristina Fernández de Kirchner
6A.
Write down the following sentence. (Quizmaster: speak slowly) I, myself, will re-do the work you failed to do, but do not claim my work as yours. (Quizmaster: speak normally) How many pronouns were in that sentence?

ANSWER: four (I, myself, you, yours)

6B.
Sociologist Emile Durkheim coined what word, which he defined as an absence of values that led to malaise and alienation in an individual? 


ANSWER: anomie
7A.
In the 1890s, Scotland Yard used the Henry Classification System to help utilize what uniquely identifying feature that determines just who had been at a crime scene? 


ANSWER: fingerprint(s)

7B.
It became a constellation after it reached Corinth. What mythological Greek ship sailed from Iolcus to Colchis in search of odd-colored wool?


ANSWER: Argo 

8A.
What daughter of Herodias pleased her father Herod Antipas with her dancing, and then requested the execution of John the Baptist? 


ANSWER: Salomé (sah-loh-MAY)

8B.
William Worrall, William James, and Charles Horace are the three doctors that started what world-famous clinic in Rochester Minnesota? 


ANSWER: Mayo
9A.
THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix whose top row is 7 and 5 and whose bottom row is 4 and 6?

ANSWER: 22
9B.
THIS IS A COMPUTATION QUESTION. What degree angle has a supplement that is 4 times as large as its complement?

ANSWER: 60 degrees
10A.
THIS IS A COMPUTATION QUESTION. What is the molecular mass of carbon monoxide?


ANSWER: 28
10B.
What book was British veterinarian James Herriot’s first compilation, taking its title from the line that follows ‘All things bright and beautiful’ in a hymn? 


ANSWER: All Creatures Great and Small
Third period, 15 toss-ups, 10 points each

1.
The poet called this collection’s English setting ‘the land of lost content.’ Not all of its 63 poems are named. Some of the named poems include ‘The Isle of Portland’ and ‘1887.’ The poem, ‘The Welsh Marches,’ is a reference to the fact that the English county in its title borders Wales. It contains lines such as ‘Mithridates, he died old’ and ‘The time you won your town the race’ in the poems ‘Terence, this is stupid stuff’ and ‘To an Athlete Dying Young.’ What is this poetry collection by A.E. Housman? 


ANSWER: A Shropshire Lad
2.
This band’s original members included Rob Gardner, Ole Beich, and Tracii Guns. Current sidemen in this band include bassist Tommy Stinson and lead guitarist Bumblefoot. Keyboardist Dizzy Reed joined in 1990 and has been with the band ever since. Its upcoming album, Chinese Democracy, will be released on a day ending in ‘y.’ Former members from the classic era include Izzy Stradlin and Slash. Early albums include Axl Rose is the frontman for what band? 

ANSWER: Guns N’ Roses
3.
For xenon, it is 290 Kelvin; for bromine, 584 Kelvin; for chlorine, 417 Kelvin; for oxygen, 154.6 Kelvin; for nitrogen, 126 Kelvin; and for water, 647 Kelvin.  A gas will not liquefy above it.  Name this term for the temperature above which distinct liquid and gas phases do not exist.

ANSWER: critical temperature

4.
This town was situated at a strategic location near College Creek and Queen’s Creek. It was originally called Middle Plantation. In 1775, it was the site of a Gunpower Incident involving then-Governor Lord Dunmore. In 1770, it selected to host a mental institution that became Eastern State Hospital. A college was established here in 1693. It was the state capital between 1699 and 1780. What city in Virginia is now known for its historical Colonial district? 


ANSWER: Williamsburg
5.
It passed the Self-Denying Ordinance and abolished the Star Chamber. Its Dissolution Act meant it could not be dissolved without its own permission. George Monck allowed several of its members to return. Eleven years earlier, Thomas Pride had purged its membership, creating a ‘Rump’ of members loyal to Oliver Cromwell. It had originally been called nine years before that by Charles I. What was this session of Parliament?  

ANSWER: the Long Parliament
6.
Her real name was Lulamae Barnes, and she got married at age 14 to a man named Doc. She made her money by dating wealthy men, including a Brazilian politician, Jose. She got an extra $100 a week for delivering messages to imprisoned mobster Sally Tomato. She asked Mr. Yunioshi to let her in her apartment at odd hours of the night. She calls the unnamed narrator ‘Fred,’ after her brother who was killed during World War II. Who is this main character from Breakfast at Tiffany’s? 


ANSWER: Holly Golightly

7.
This region was unique in the German Empire in that the Kaiser directly governed it. In World War I, German soldiers from this region had been sent to the navy or to the east to fight Russians. It became an independent republic for two weeks in November 1918, until French troops occupied Strasbourg, its largest city. Nazi Germany annexed it in 1940, and it returned to France in 1945. What region did Prussia conquer from France in 1871? 


ANSWER: Alsace-Lorraine 

8.
It consists of about fifty species of the genus Myosotis.  It can be annual or perennial, and many species are found in New Zealand.  It is the state flower of Alaska.  Name this flower that is usually small, five-petalled, and blue, and serves as the symbol of the Alzheimer Society of Canada.

ANSWER: forget-me-not
9.
Ancient Roman examples of this art form are the Gemma Augustea and Gemma Claudia. Its ‘hardstone’ variety uses agate, and during the Renaissance, artists began using conch, mussel, and cowrie shells. Today, most of them are made with an ultrasonic carver. They often portray a woman’s head in profile, and are often used in jewelry. What method of carving creates a raised image atop a different colored background?


ANSWER: cameo
10.
Named after a 17th century French mathematician, a computer project known as GIMPS is looking for them.  Perfect numbers are tied to their existence, and examples of them include 8191, 3, 7, 31, and 127.  Name this type of number which is a prime number that is one less than a power of two.

ANSWER: Mersenne prime
11.
Most of the short stories involving this character were published in a single volume in 1972. Like his creator, his father was a doctor, he spent time in northern Michigan, and he served in World War I. He dated a girl named Majorie, and broke up with her in ‘The End of Something.’ By ‘Wedding Day’ and ‘Fathers and Sons,’ he had gotten married and started a family. Who is this young man that comes of age in several short stories by Ernest Hemingway?


ANSWER: Nick Adams (prompt on partial answer)

12.
He came to power after Dave Beck was imprisoned for bribery. His successor, Frank Fitzsimmons, allowed trucking deregulation to occur. He was convicted himself of bribery in 1964. In 1971, President Nixon commuted his sentence, provided he not engage in union activities for 10 years. He had lunch at the Machus Red Fox restaurant in Bloomfield Township, Michigan, on July 30, 1975. He got into a car, and was never seen again. Who was this head of the Teamsters?


ANSWER: James Riddle ‘Jimmy’ Hoffa
13.
An area of this is the instability strip, which runs diagonally near its top and contains most Cepheids. Another area is a gap that occurs between the A5 and G0 spectral types. Most of the points on it are along a line, running roughly from the upper left to the bottom right, called the main sequence. Giants, such as Betelgeuse and Rigel, are contained at its top. What diagram usually has two axes, one for spectral type and the other for absolute magnitude? 


ANSWER: Hertzsprung-Russell diagram or H-R diagram (accept color-magnitude diagram before said in the question)
14.
It is also known as the celiac and is located behind the stomach and in front of the crura of the diaphragm. It is formed by the greater and lesser splanchnic nerves and parts of the right vagus nerve. Getting hit here results in getting the wind knocked out of you. Name this network of nerves located in the abdomen.

ANSWER: solar plexus
15.
Martin Luther encouraged them to escape if they had their job forced upon them. In Eastern Orthodoxy, the highest rank is ‘Great Schema,’ often only given when death is near. In Roman Catholicism, those in training go through a postulancy and novitiate before becoming one full-time. One method of ordination is the Black Veil ceremony. What women take a solemn vow to undergo a religious life? 


ANSWER: nun(s) (prompt on ‘sisters’)
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Its three heads were James Eric Drummond, Joseph Avenol, and Sean Lester. It was successful at resolving the War of the Stray Dog and the Åland (OH-lend) crisis. It also created the Nansen passport for stateless refugees. Its last major act was expelling the Soviet Union for invading Finland, but it did nothing about the Mukden Incident or the invasion of Abyssinia. What organization, founded after the Treaty of Versailles, was the predecessor of the United Nations? 


ANSWER: League of Nations
2.
THIS IS A COMPUTATION QUESTION. What is the surface area of a cube with side length 13 meters, remembering that the surface area of a cube is equal to the square of the side length times six?

ANSWER: 1014 square meters
3.
Also discovered by Karl Braun, it is named after the French chemist that discovered it.  It is used to manipulate the outcomes of reversible reactions.  Name this principle that states that if an external stress is applied to a system at equilibrium, then the system will adjust itself to partially counteract the stress as a new equilibrium is reached.

ANSWER: Le Chatelier’s principle

4.
The Karine A, a ship carrying illegal weapons, was headed for this region in 2002. Its former occupier adapted a unilateral disengagement plan in September 2005, although continuing to control sea and air access. In early 2007, fighting broke out here between rival militias, devastating cities such as Khan Yunis and Rafah. After defeating Fatah, Hamas assumed control in June, and Fatah then kicked Hamas out of the West Bank. What area of 139 square miles is located to the southwest of Israel? 


ANSWER: Gaza Strip

5.
This novel makes frequent reference to R.M. Ballantyne’s book The Coral Island. Its title may refer to the literal translation from Hebrew of the name of Beelzebub (BAY-ul-zeh-bub). A dead pilot is mistakenly thought to be the Beast, who had first been seen by a nameless boy with a birthmark. Most of the story focuses on the power struggle between Jack and Ralph, with Simon and Piggy being killed by Jack’s group. A British ship rescues the boys from a deserted island at the end of what William Golding novel? 

ANSWER: Lord of the Flies
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

